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Answer question No. 1 and any Four from the rest.

1. Answer the following : (10 x 1=10)
(a) All the interfaces for connection to other devices in IoT must be wireless in
nature (True/False)

(b) The Request-Response communication model involves broker (True/False)
() The IoT level, in which the sensing, data analysis, and data storage is done
on the node itself is .

(d) In case of IoT, the cloud may be used for storing data, analysm the data , as
well as hosting the application (True/False)

(¢) One of the communication protocol which can be used for M2M local area
network is

() Open Flow is a standard SDN protocol for the southbound interface
(True/False)

(g) NFV can provide the infrastructure on which SDN can run (True/False)

(h) The communication model that is used by MQTT is

(1) The number of digital pins available in the Arduino Uno is

G) The Arduino Uno provides a bit ADC.
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